| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

o o
Re Be
o= S
— > N
X Lo
© x
S x 5
— G M <]
@ N o =
= ° —
Lo g
H
8
o 5 o
2
g
Lo
i = o
: 5
o 2
! S
g o
1o = ¢
A E :
g
o 8 o
I a I
) 8 1
5
z
o _ o
IS [~
£ £
CA )
> N
3 QLo
° X
% 3
e g
B Ehs

-10 ©

-20

syoes o

e,

}

oney

-30

track dz (cm)

20
track dz (cm)

-20

0

Q= 5]
£
O
PR
o > o
x
™ -
X
S —
g s S
do 2
= 0
[ s
IS 3 o
&l Z
E
— =
R I s
I S "
b3S Sk
boS ! = o
o Lo 51 N
d o5 B il B !
L | S
. . Hofst 2
L L N I a I3
= D g £
ES 0 = S o
ES% z
syoes ang ) -
i)
o o
N = (s2]
£
&)
o=
>
x
Od
- x
-3
o = K
o o
1o
R N .
S A
o 0
-{= S
| <
]
0 g
-{= 5
] (=}
3
o 2
I = K
> 4_ <] w_
3 =] z S

syoen

syoen




	Contents
	Page 1


